&-L\ hA Liste mau-apo)w« : @o’?‘&h )'fr.ch\ ung

AQ) 8"&': PS: '20%,’ &L)=?§é
fo: Pu= 05 GU= L) 75€ = Z-KE - sﬁ"??‘é’ifz‘i

by g €= 2% ©Ou= oot

5(/).‘, &u
€W 3600 " 3600 .*
Gh= g5 = 5% 3 = 2600,%- 4 = Aubop - At La

————

<) 640(’.: (;U = 2‘10g - 4U= KOOL

fo- <
ey e 8122 .
=2u = 705 7T &7 a0 524

CJ/ 81,6,‘. pg'-’/fs_’/o,’ 4\«): 2(?(%,
gw,: (CAN]
Puw= - Cu

"

A% Xl ~ 25 ey = 2y - 52|,

Sl - uzly
ohe: S Wy - Mof Uy < SL-Wy- A8l uly = Ul

l

2) 6«’%,1 (PLJ'—’/H\’\»L" 6(.}: /20 Wik

g €S
ﬂ" = ﬁ_\?.—l" = é‘ = __/—lf - e
S = Fu T Jeowr 2o aw = A5




-Z_.

2w B= L Qu= ASk
Qo Cw

Cuw= -GW= Aog7  AS00y = %L iS00y = Aoé- /S = /1594
\}\‘52: //0,‘/15-

Ao¢  AM6,6-p5= Ao fo < No,65 = Ao + S3 = AST
530 odec :

1590

3. ae,&n: PN=§€ @-‘-2’/0

(

5«/).‘. &U:X
oW SE S = :
X = &W= es T 24 T 5406 =S€&-50 = 50 €&
1 oo 2% 2 SE€ Y

| A 250 €
|
? Aow /s £ 250 €

Lr ‘ . héd”a’(l\hm'}’

g GW=ko€; Pu-3€ ; 4p: ©S
_ (_ZN__ _ 35‘6 T Z_ _ L o
P$= 20 % 1o T F ° 08 - ESU
NE:  7:3= 0,825 2
2'2 e A‘ @cjh?\'c(}’ LJw-cZo b /12,5_4,
fy_‘_c’qo el ock 5’?52“;!;”3“ sd

7. h ) Cﬂ F()«‘AJ)’

(Zcél«?-f'crkha Vo Lo € QwJ, 3§é — §é Nqa‘«lqs‘:
Su Pw=S€;, CGW=lLog

8(/)(} ()S
Pw SE ] ]
<= 207 o€ T & OMS = M5 7

%‘. (\DL( @tg LJk(&'L- hine /]215’_% "K.clla?;a(l'.



’_3.—-

@&TSScuL{k% e BS-Z - © stnd L\sd)-\ /aa}o" 3‘3.2"‘ {S-‘Z l:'lbré
gqr B = 657 1 ©Pu= 231€

ges &L}
(& 2% & 34 € 234 234e 20 kedo
GL= & = 57 = & - & T3 EE
Noo 26
= 360 &
UR: Uceo : 43 = 20
39
¢
72

/{': (D«' L{kkcjb L@b\k 360 € e,

5. Jeg-: //0§0 M )'8‘ a{‘r

/
6o/ 25 A A? YA
Ernodusenc Ok&ul-él the (/( ndee

E‘ruei-sa.e, 3 éﬁ% 3&0’ = 'Q; 350“‘ 3[0 3
Ohie,kJ}TA(. : 2§Z' Zéﬁ’ T /{00 Zé = ﬁ’jéﬁ - 5

\rinder At B0 = N0 360"~ S/ 60 _?g-‘-/{g ZLL'
de: o'~ (W30 2"~ 306" T4 |

\
l\

.o

?kj;hé = 30’

| Ecuad- | Lide

1? &“ c \ \ i
‘; \(f‘“‘“ S4°
¢

ue*



